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  �(   �� ����� �!"# �!�$� �%!&�� '* +��&��� �%!&,�-���� ��&��� ����.� �!$� /� 01��� 2� �	3�4� 567 8�9 �:
	!;�<�=>, �%!&�� ?@* A�	1 B�.� �C  

D(   �� �� 'E3&� +��&��� �%!&, �����=��� F����, �	�!�, 0G:� HI4 ��J� ��%�	� <	KL"�, ��6� ��� �	J�M�� 
!��CD�I  

 A(   �� ��������� ��	
��� '�	��� �NO��) �P�3&!Q�2000 ((WRC-2000) �R� ��S��, 0��@��� 7 ������� TU��I� ) V��
 �NO�� ��� 	=�: 	W�4(WRC-03 ��X���� Y F������ ����� HI4 <��	=�4� ITU-R SM.1448 ���, HI4 	*���� �=��� V��� 

 ��X���� Y ����ITU-R P.620 5, �������� Z�, 0=J� MHz 100 [� GHz 105C  

 �(   ���%�� ��74 (WRC-03)  0��@��� 	>�I4 \�%� V�� ��&%��� ]Q.� 0�^ ��I=4 _
�7��
�I� �3`��,   

  ����  

1  ��� a�: �������� �&4 +��&��� �%!&, ���� Z�� ������b� 0=���� MHz 100 F��$� �	J�M�� D	�c +U��d �
 +"I�� Y1.  

 �"���1  

1  �����  

 +��&��� �%!&, D	�c Y 0=���� '6� �	J�M� �	�!�, +"I�� �@* P�	&��B���� �	J�M�� 0,��4 ���%�� F�f	3, �%��d 
+��&��� �	:	�, ���� Y ��&���.  

 567 V�� �%!&�� +��&��� �%!&, 0gN�P	h� 	>�:i� �	!;� ����� �!; /� 	>S�	1 j�k 2@�� 01�����  B�)/� �� 
/*	l�� Y 0=�� ����� �	!;(����:�� �	d� Y 0=�� �1m �	6, Y F������ �KL"��� �	 . ?@* 5, '%3��� no^� Y�

��X����B�i� �	!; F�	34 �p:   0gN �� 567<	G��/*	l�� Y �I,	��� ����.� �	!$�  .�� +��&��� �:	�, ���� �p: q�@
 rS������ �M�	%� /��I!�� P	Q�b� F�	�1�)  �	s t�=��� ��Q	Q.� P	Q�b� F�	�1 5, u�.� �v�(dB) Lb( p) � 2@��

� � 5,o�� 5, F��; ���&Q ���w, �3�M x�	y�p(� �01����� Az�{� \	K&�� ���	3�4� |	Q� HI4 � 2@�� P	Q�b� F�	�1
 }�; 	>�: ~>���	J�M�� .� '* ���I!�� +��&��� �:	�,��� V�� �:	��� qI�	��� 	>�: Z�	��	�.  

____________________ 

*   �������� �	
 �� �
����� ��� ���� �� ���	�1��������� ���!�"� .  
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������� ��	
� �
�� ������ � ���� ��
� ����
� ���� �
�� ����
 !"#$�% ������ &'�( )
�$*� . +�* ��$���
, &'��$
�!-���

 /0��1 ������� 2��� .3�#4#
� 56 !6��7� /% 8�9����� ������� 2���� :��; <	�$�
� ��-��% �= >

2=	?% !-��% @A �B >�C�D� � 2���E� F#��% @A �%A.  

G�H
 !IJ�� !	K�L� !IJ� M0 ������
� NC�?� �O
��� PQ��9 !?I$% �QR � <	�$�
� !?I$% �B @A 2��SD� T% =0 �� .
 8�$�U NC�?�
� ��* �#�9 �% 8��
�V� �A �0 <	�$�
� !?I$% ="���@A 2��SD�0 )
' <	?3 � !IJ� M0 ���=�
� >���6� T1�%B 

 ��	4#� W
" =��X9 8Y	Z[� �Q1B �	
3 \�=]�C�0 �9=?�
� @A &��^ _�
� G�H
 ��I` _B� !	K�L�ITU-R!
Z
� ��' .  

a�R ��%#
X% 8�b9B !	4#�
� +�* �-#� <	�$�
� c�[1 :��6 !?9�d e-#� @A !-�KA�� 8�%�OCA 2="��7� ![1L� ��="A T% T 
 G�L� ��I` �fB T% <	�$�
� �	
g�
 !?6Y
� �6��7� h�$iB !$%��
� ���=�
� ���6 !	�
�V !
�jA !"�C!Xk�#
� c�[1 ���� 

<	�$�
�.  

2  ������� ���	  

l��
� #g$
� W
" !	$�% !	4#�
�:  

 <g
7�1:  <	�$�
� !?I$% =9=g�
 !	
�nD� !	oO$7�  

 �	9��
�1 <g
�

 1:  
� ���
X% �9�X���=  

 �Y	9��
�2� 3 <g
�

 1:  ���X7�<	�$�
� ![1B :��� !0#
I7� �  

 �	9��
�4 <g
�

 1:   �Z�
� p� � !9#9���
� �Y6�7� \�q� ��	r�#s �Xf�% t�XSA pI�  

 �	9��
�5 <g
�

 1:  ���
X7� /	n �9�X�.  

3  �
�� 
�������  

1.3  ��������  

 !-��% � ������� ur�Z� =9=3 =��X9!	
��
� ��K���-�� W
" !	K�B !IJ !��$
�0 <	�$�
�:  

v  w!-��X% eV �OX% <	�$�
� x��
9 y
� G�H
 ��IJ� /k�#%  

v  w!	K�L� !IJ�0 !?
X�7� ��%#
X7� F#C �-#�9 � ���=�
� ���% !C=$* �  

v   2��6 !9=		?� ��K���-� /K� 2���K���=�
� e�% �k�0 !C=$s !��$
�0#* ��1 +���B M�% .  

 � ������� �*�#z �$Z�l��
� #g$
� W
" M0#
CB � <g
7� ��*:  

v   ������(1) : �*�#z������� ��Z
� #{� �:  

v   G�L� |IC N�; �i��� y
�)�X���~��X���� ��9�{�� �������� &�/�?�I
� �������(�  

v  _e[C#0���
� ��Q���� <9�d T"� .q
� +�* �Z�?��wW�qX
� 2�r�=
� e�% ��=�%� W
" ������� W
" �*�#  

v   ������(2) : ��* � �1�	C ��1 ��Z�?9 �$�
� W�qX
� 2�r�=
� e�% W
" �Z�?9 � _�
� _#{� h�7�0 ��Q����
G�L� @A !��$
�0 2�?��% ���#�0 2�O�� !	K�L� ��IJ� W
" �<g
7�.  
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I�� �� ��
 !��$
�0 _���b
� T%� �#�� !-��% =9=3 +Y"B T9���#
� ������� �#
CB T% ��
� !	K�L� !IJ� T% 8�kY
�� �#��7� !	C�CL� >�C�D� 2���� T% :#
I7� ��L� =g

 !9���% ������� 2���� �O	- .* �#��� !-��7� +�) !-��%

<	�$�
� ( �*M�-��7� �1BM�0#�J� .  

�����
� !?9�I
 8�%�� T��� �*��=?% �#�9 ��0 W4#9� �>#I
� �	6 T% 2=6#% 2#I� \=]��� �B km 1 . ���� �#���
 :#
CL� � ������� 2���� =9=3(1)2h�[1 �Q1B _����� h��fA \�=]�C� �����B �'A �T��7� T%� !-��7� /% !�	�� .  

2.3  ��	�
�� �
�� �� ����� ��  

F=
:#
CB �fB T% <	�$�
� ��-��% =9=3  ������� (1)\��kB !iYi @A �q$
� =	k ����
� F=% N	�?� F�f :  

v   ������

VHF/UHF M0 !Xk�#
� MHz 100� MHz 790w!�	?7� ��	IX�

 !	�9�� !%h�#% W
" &'#�$
� =��X9   

v   T% ������

MHz 790 @A GHz 60{�� _e[C#0���
� ��Q���� ������ � ���9 ������ &'#( \=]��9  ��9�
~��X����/w�?�I
� �������  

v   T% ������

GHz 60 @A GHz 105 �9=?� W
"� ��� h�b[
� � 2���E� W
" =��X9 _���	
	% &'#( \=]��9 
T%�
� T% 2e�Z
� !9#�7� ��$
� � 2��SD� �9�X� �r�C� 2�"��% /% _j��
� ��Z�%Y
 �[g�%.  

 !��$
�0 !�
X7� ��� F=% 8�%#�" �
��� ������� :#
CB &'#( ��	
� T% !	
� ��
(1).  

 ������� :#
CL <	�$�
� ��-��% =9=3 �fB T%�(2) ����7� No�� � )
'� _#{� h�7� T% �6�$�7� �i�$�
� !f�( _�� 
���=�
� �=Z% �#�� �B ���^ y
� ��Ig�

 !	�	r�
� \��� T% ����9 _�
� .
� � ������
� <	�$� G��VL� ��k�I$

 ���GHz 1 �#-� GHz 40,5 ���=�
� >��A T�� �_#{� h�7� �i�$� T" ����9 _�
� ��� 2�i�$�7� 2��SD� !9#C �#�� 'A 
GHz 1 �#- �#��� 8�=f !b[]$% GHz 40,5 T% e�7� ��=�%� W
" 8�=f !$*#% ��i�$�
� T% �0 ~�0 � �=k ��=6 NV� �

G�L� !I` @A �i�$�
� No6.  

$
�0� !�� :#
CH
(1) F=% ��0 !
Z
� ��' ������� �%�#X
 8�X�� �
�� �=` ��B =6 T% 8�����"� 2��9�
�0 !-��7� &�=�� 
������
� T% . :#
CH
 !��$
�0 �%B(2) !-��7� ��-  >�={� � ��9 WZkB =6 T% 8�����"� ��Z?$
�0 &�=��2 . !��$
�0�

 ="��7� :#
CH
(2)�0 !-��7� &�=��  ��	r�
� :#
CL� � <	�$�
� !-��% T% 8�����"� ��Z?$
(2)���
� x[� �fB T% .  

 =$�
� � !-#4#7� !?9�I
�0 )
'� !	K�L� !IJ�0 !I	J� x9��b�
� N�; �o�� T" !n�$
� 2���E� :��6 ���$9�1 T% 
 �	9��
�2T% 8�kYI�� ![
�� !XSB ��=�%� W
" <-L� t�[��� �9���
 8�X�� !	K�L� !IJ�  . !	-�KD� 2���E� +�* ���� �B ���$9�

 M0 ������ y
� ������
� /	�{ !��$
�0 ������ �MHz 100� GHz 105.  

4 �������� ����� 
�
���
  

1.4  �������� ����� ���!"�  

G��VL ������� :#
CL <	�$�
� !-��% :��6 (1)� ����$% <d�$% @A ��X
� <d�$% �[$4  !9#9��) =$�
� �q��2.4 ( 8�?-�
 �%�
�0 �O	
A ���9 !9#9��� !9#f ��4�B !�
X7βp��Z
� #{� � '��
� ������� c��z >���6� T" �X� �*� .  
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 !�	k =��X��βpG�X
� p� W
"  . !�	k =9=3 � �O%�=]�C� �f�#
� G�X
� p� !f�� �=g���βp !
��X7�0 !g	gZ
� 
!	
��
�:  

 







°≤ζ

°>ζ−ζ
=ζ

8.1for0

8.1for8.1

r
 

(1b)

(1a)
 

 �	6ζ  G�X
� !f�� �	6 T% !	K�L� !IJ� /k#% �*)��f�=
�0.(  

 !�	k �=g�� �r=$"βp!kYX
� \�=]�C�0 :  

 









°>ζ

°≤ζ
=

ζ−

70orf17.4

70orf01
β

 015.067.1

r

r

p

r

 

(2b)

(2a)
 

 M0 !Xk�#
� ������

 !��$
�0�MHz 790� GHz 60�% =$" �gI�
� ������� !$9�k \=]���  e�7� �1�% � �g�
� F#�
N0 � ������� :#
CB ��0��6 (1) .!
��X7� \�=]�C�0 )
' :��6 T���:  

 

2

7.32

2

0 e6.62330








 −ζ−
+=N (3) 

2.4  �������� ����� #$���  

!-��% :��6 F=
 ������� :#
CL <	�$�
� (1)!	C�CB !9#9��� !	��$% <d�$% /0�B @A ��X
� N�?9  . <d�$7� +�* �=3�
l��
� #g$
� W
":  

v   ������1A:  !?I$7 !���7� �K��L� _B ��d�#�
� <d�$%� !	
6��
� �K��L�B !?I$% �B C) +���B �q��( 56 �
 t�[���100 m �*�ZkB !-��% W
" �Z�?� �O$�
� �h�7� �B �g�
� !9#C pC#�% @A !��$
�0 km 50B T%  :�k
 !?I$%B !?I$% �B C� ����6 �!
��� �#� !-��% c�[1 T" !?	k� ��%#
X% �-#�� � �'A� 100 m�  >��X�C� T�

 !	�9�?� !�	k)3008YQ% \=k (w  

v   ������2A: ��X7� �d�#�
�� !	
6��
� �K��L� �=" �K��L� �1 !?I$7� � !-1Aw+Y"B   

v   ������B: 2����
� F��
� !	
��=
� +�	7�� ��I	J�� ��g�
� " �#I� � !Xk�#
� j��o�� G�°30 �g�
� h�$Q�C�0 �
w�#CL� �g�
�� pC#�7�  

v   ������C: !	
��=
� +�	7�� ��I	J�� ��g�
� F��
� 2����
�  ��� G�" �#I� � !Xk�#
�°30 ��g�
� )
�1� 
w�#CL� �g�
�� pC#�7�  

������
� &'�( �
�� � !?I$% ��
 !	
��
� !-��7� ���
X% @A �%L� &��^�:  

(km) dlm:   !?I$7� �G�L� ���� 2����% !-��% >#dB2A �T�Kw!$*��
� e�7� !-��%   

(km) dtm:   2����% !9�0 !-��% >#dB) G�L� ���� _B +!	
6�C( !?I$7� �1A +  !?I$7�2A �T�K !-��% 
!$*��
� e�7�.  

�O
�1�0 e�% !-��% ��
 ��-��7� +�* N		?� 2��"A MX�9 2���b
� �"� �'A�������� &'�( � �����
� F�" ���� .  
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���	�
�� �
��� �� ������ �
�
���  

 !?I$7� � !Xk�� �¡B ��X� �!	
��=
� +�	7� T% 2e�1 !?I$% c��X�B !?I$7� �B C 8�9���A <	�$�
� G��
 �8��rY% �#�9 ����6 
 T" �?9 � �% �O�6��% ¢
�� !?I$% �¡B W
"2

km 7 800
� �C�0 T�L� <d�$% h�$Q���¡ . +�	7� ��6��% ���� !Xk�#
� ��{��
 ��� �£�X[��% ���1 �'A !?I$7� +�* ��0��6 � �O$% 8�h�f ��X� +�*m 100L h�7� !9#C pC#�% �#-  T% �Q1%90 T% 

�O�6��% .6��% :��6 G��VL )
'� !9�0 !6��% �¡B W
" �$Z�- e9�X7� +�* ¤
� � y
� ��{� �%B+�	7� !.  

 ���	�
�� ������� ��
������������� ����� ��
��� ��   

 ���$9 T" �O�6��% =9�� y
� !	
��=
� <d�$7� ��X� �B �����¥
2
km 7 800 2e�Z
� ��eg�
� T% =9=X
� W
" _#�3 y
�� 

 !?I$7� T% 8�h�f ��¡L� T% !��S W
" �B1A3 !?I$7� )
� ���1 �'A !	
6��
�  T% �Q1B W
" _#�%50 ��1� +�	7� T% 
 T% �Q1B t�[���%90G�L� T% �O	-  ��� m 100+�	7� !9#C pC#�% �#- .  

 !?I$�

 !X0��
� !	��$7� <d�$7� =9=3 � ~���
�� �$� !0#XZ
 8��q��1A ��eg�
�� !XC�#
� !	
��=
� +�	7� ��6��%� 
 !	
��=
�F��
�9 !�d�
� !9�
� <d�$7��  <d�$7� )
� ��3�� � !9#9���
� ���Z��� ���% F=
 �o�� �B �����D� T% �
I

���[
� +�* F=6D !X0�� �*����"� � �V�� y
�� !	$d#
� �*��=6 ���� !Xk�#
� . � �%� 8�-Y� !
o�% ��%#
X% �-#��
)
�
 !	��$7� !?I$�

 !X0�� �¡B W
" !9�
� <d�$7� �1 ��X� 2A.  

3.4  %�&�'( ���)�* �� ��������� ��'���� ����+"�� ,�-.�  

 :#
CL� T% �1 ��0��6 >��$�� y
� h��fL� ¦X0 �(1) :#
CL�� (2) 2�?��% !9#9��� !	��$% ��%#
X% @A 2��SD� ��� 
 ��	4#� T%ITU-R�F��B �*� :  

 B (   !	4#�
�ITU-R P.836wh�7� ��, !-�Q�
  

:(   !	4#�
�ITU-R P.8377 >=X>#I* w�I7�   

&(   !	4#�
�ITU-R P.839�I7� t�[��� .  

 p�� >#I
� p� ��	i�=6�0 MX% /k#7 !9#9��� !	��$% !�
X% W
" >#Zg

 8�9���K �#�9 ��Q	6 ��	4#�
� +�* @A ���9
G�X
� . :#
CL� ��0��6 T% F��B h��fB ��(1) :#
CL�� (2)��$7� ���
X7� ¦X�
 !�0�i N	k \=]��� !9#9���
� !	 .

F��B ��	4#� @A 2��SD� @A !f�6 � ����� +�* ��.  

5  ������ ��	
  

1.5  ��
-�� ���/�� �0-1  

 �%�#" ~�CB W
" ���-��7� +�* =�R =k� +Y"B ���� y
� �%�#X
� T% �=" N�; +��� _B � <	�$�
� !-��% �=g��
J� T% 8�	��� !�9�k !-��% T% ��*=6#
 �����������%#
	�
� ���% 2=" @A !	K�L� !I . !	
�" �"��=
 �_���b
� T% T�
�

 <	�$�
� ��-��7 �	�=
� ��=�� �9�?� �_#9���
� e�7� ���0 �O6�d ���$9 y
� ��K���-�� ������0 ���� ��
 )
�1�
(dmin)y
� l��
� #g$
� W
" ��3 :  

�=
� <	�$�
� !-��% ��3 !9=	OR @�B 2#I]1 ����

 /0��1 �	(GHz) f 56 �GHz 40!
��X7� \�=]�C�0 �:  

(4) 
2

)(
100)(

f
fd

p
min

−β
+=′                km  
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 F=7� ���� ���� _B � �	�=
� <	�$�
� !-��% ��3 §MHz 100 @A GHz 105!kYX
� \�=]�C�0 :  

 


















≤≤−−

<≤

<≤−+−
<≤

<≤−+′−
′

=

GHz105GHz90forkm
5.1

)90(
45

GHz90GHz75forkm45

GHz75GHz66forkm
9

)66(45)75(10

GHz66GHz54forkm10

GHz54GHz40forkm
14

)40(10)40()54(

zGH40<forkm)(

)(

f
f

f

fff

f

ffdf

ffd

fd

min

min

min 

(5f)

(5e)

(5d)

(5c)

(5b)

(5a)

 

 !
��X7� � �6Y9(5b)�B  '
mind (40) !
��X7� \�=]�C�0 �=?� (4) �	6 40 = f.  

 ������� �#
CB T% �1 W
" �	�=
� !-��7� <�I$��(1)� (2) �*�=k� �	�=
� !-��7� \=]���� �55��%#
	1 8� /	n � 
������
�.  

2.5  234"�� ���/�� �0-1  

�	
" ��=6 /K� 8�b9B _���b
� T%) dmax1� dmax2 ( ������� �#
CB � !9�����
� ��0���� � !%=]��7� W�qX
� !-���


(1)� (2)l�#�
� W
"  . ������� :#
CL F#Z?
� !-��7� =6 ��^�(1) (dmax1)!	
��
� !
��X�

 8�X�� :  

 








>






−

≤
=

GHz 60forkm
50

log1080

GHz 60forkm2001

11 f
p

f

d
max

 

(6b)

(6a)  

 ������� :#
CB :��� F#Z?
� !-��7� ��=6�(dmax2) (2) >�={� � 2���� 2.  

3.5  �����5��� ��6�/7+� ���/�� �0-1 ,�-.�%�  

 :#
CL� ��0��6 �(1)!-���

 WZkL� =�� 8�?
I% j��o�9 �� !-���

 ��L� =�� T% 8�����"� 2��9�
�0 !-��7� &�=��  .
 :#
CL� ��0��6 ��(2)L� =�� T% 8�����"� ��Z?$
�0 !-��7� &�=��  !-���

 WZk) !
�6 � �C�CL� c�[�
� T% �B

 ="��7� :#
CL�(2)(��L� =�� ��� ��-��7 8�?
I% ����9 �� .  

6   ���
��� ����� ����
�� ����� 	�	�(1) ����!�� "#$�	�� % ���
��� &���'   

1.6   ���8�� 9/��� :�%( 2+� #�/���� ����/������ ���;< (�%=   

�% :��6 =��X9!9#$C !9#�% !��$
 �=` pC#�% T% �Q1L �*j��� ���$9 � y
� ���=�
� !9#C W
" <	�$�
� !-�T%�
� T%  
p1 . !9#�% !��� ~�CB W
" <	�$�
� \#?9 �B �O	- MX�9 y
� ����� ��T%�
� T% ��OS B#CL pw1 !��$
� :��6 T�� 

 !9#$�
� !9#�7�!�-��7� T%�
� T% p1�O�
I�� y
� l��
� #g$
� W
" !?9�I
� +�* :  
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!kYX
� T��
�:  

 









°>ζζ−

°≤ζζ+
=

45for2cos1.1

45for2cos1.1

7.0

7.0

rr

rr

LG 

(7b)

(7a)
 

�r=$":  

 

816.0

444.0)log()log(

1

1

10

−+

=
Lw Gp

p (8) 

 �	6(%) p1!9#$�
� !9#�7� !��$
� pC#�% �* T%�
� T%  ������� :#
CL (1).  

 !�	k =9=3 MX�9 !f��� �"� �'A�p1 �#�� ��1 ≤ 12p1 pw1.  

2.6   ��	�
�� >�+%= #�/���� ���/� >�/1(1)  

L <	�$�
� ��-��% =9=g�
 !	
��
� <r��I
� \�=]�C� ���$9 ������� :#
C(1):  

v   M0 !Xk�#
� ������

MHz 100 �MHz 790 =$�
� � !-#4#7� !?9�I
� 2 �	9��
� T% 2w  

v   M0 !Xk�#
� ������

MHz 790 �GHz 60� !-#4#7� !?9�I
�  =$�
� 3 �	9��
� T% 2w 

v   M0 !Xk�#
� ������

GHz 60 �GHz 105 =$�
� � !-#4#7� !?9�I
� 4 �	9��
� T% 2.  

7   ���
��� ����� ����
�� ����� 	�	�(2) �(�)� *��� +,�- ��.
���   

1.7  ���� ����?���  

 _#{� h�7� ���0 ��Q��Y
 <	�$�
� c�[1 �=g�9)Q% �I7�0 ��Q����8Y ( !C=$* T" cY���� �1 �
�¨ e�% !C=$* �
W�qX
� 2�r�=
� W
" ������� ��	
� � e�7� . @A _��9 =k �U �I7� ���0 !	6�$�% !k�I
� �i�$�� l�L� �9�?�
� :�0 T%�

W�qX
� 2�r�=
� e�% T" 8�=	X0 \��� ��Xd�?�
 !��$
�0� !f�[$% �i�$� �9���
 !��$
�0 ���=�
�.  

s�©4 �i�$�
� T% :#
CL� ��!9�;� !	
6�C� !9�0 <d�$% @A G�L� |I�
 <0��
� �	$Z�
� \�=]�C� T" �q$
� c�.  

2.7   ���8�� 9/��� :�%( 2+� #�/���� ����/������ ���;< (�%=   

 <	�$�
� !-��% :��6 =��X9L �*j��� j#ª � ���=� !9#C W
"!9#�7� !��$
� T% �=` pC#�% T% �Q1!9#$�
� T%�
� T%  
p2 .MX�9 y
� ����� ��~�CB W
" <	�$�
� \#?9 �B �O	-  � !9#�7� !��$
T%�
� T% �OS B#CL pw2 !��$
� =9=3 T�� 

!9#$�
� !9#�7� T%�
� T%l��
� #g$
� W
" !?9�I
� >��X�C� �O�
I�9 y
� !�-��7� :  

 

15.1
22 )(30.0

w
pp = (9) 
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�	6:  
 1.9 × 10

–4
 < pw2 < 7.8  

3.7   ��	�
�� >�+%@6 �AB=� >�/1(2) 

 :#
CB !
�6 � �������(2) �	9��
� � !-#4#7� !?9�I
� \�=]�C�0 <	�$�
� ��-��% :��6 ���$9 3 . ��s 2���K ��
 T% ����
� F=% � �A :����GHz 1 @A GHz 40,5 .��I� &��� T��7� T%� ��* ����
�f�$
� �i�$�
� >��A  �I7� T" N
 :#
CH
 <	�$�
� !-��% �#���(2) �	�=
� <	�$�
� !-��7 !9���% ��; !
��X7� (5).  

8  "	/���� �01��  

1.8  ���� ����?���  

��K���-� W
" <	�$�
� ![1B =��X����=�

 !��$
�0 !
�6 B#CB  ./k�#
� G�B W
" 2���b
�0 ��K���-�� +�* <�I$� � =k�� 
�� c��q
� ¦X0 �� G�B ��I` ��X��C� 2="��7� ![1L� NC�O	
" ��K���-�� <�I$� �.  

 ������� :#
CL !��$
�0�(1)7� ![1L� ��?�S� �
I�9 � !	-�KA ������ ��%#
X% _B 2="�� . :#
CL !��$
�0 �%B
������� (2)�]�
� !9��j �*� �$o�
� !9���
 ![
�� N	k �fB T% =
#� 2="��7� ![1L� ��-  !%��� �#J ���
� � �


!	K�L� !IJ� +��� T" 8�=	X0 G�L� !IJ !	�	r�
� . =$�
� � �*�1' «�9 !	-�KA ������ ������"� W
" _#I$9 ��*�2.8.  

2.8   ��C� D���6 ��E�
��) ��	�
�� >�+%((2)(  

 ������� :#
CL <	�$�
� c�[1 ��^(2)B#CB G���-� W
" !	K�B !I` >#6 !
4�- !C=$* !
�6 � M�%��� �B _B 
M�IJ� ��
1 ���9 _�
� W�qX
� 2�r�=
� F#��% � 8�%�R ��Xd�?�� M�	�	r�
� . �B �ª !XC�� <	�$� !?I$% )
' T" No$9�

_#{� h�7�0 ��Q���� ����9 _�
� ���=�
� ��9#�
 !
Z[% ��0��6 �O
��� _�� . /k�#
� =	X4 W
"�B 8�=f ���J� T% /?9 �
������� :#
CB (2) !	�	r�
� �#Z[
� /d�?�� �B =X���7� T% )
' W
" 2�Y"� ��	- /?9 a�B� W�qX
� 2�r�=
� |IC &��� 

8�%�� 8�Xd�?� ��	r�#O

 . 2="��% ![1B =	
#� T��7� T% M�
��� T% _B ��@A _���<	�$�
� !?I$% T% ��4B <d�$%  . ���$9�
� :��6LL 2="��7� ![1 ������� :#
C(2) y��
� �
�]�
� ������ � ���� y
� �ϕ +��� T" G�B !I` �r�#* !%�� 

 =$�
� � !-#4#7� !?9�I

 8�X�� �!	K�L� !IJ�4 �	9��
� T% 3 . �$o�
� !9���
 !
Z
� _' c�[�
� &��� /?� !I` _B�
!	�B _' ���=� �=Z% ��X� �L !f�6 � �� !4�E�.  

!-��%� ������� :#
CL �	�=
� <	�$�
� (2) ������� :#
CL �O�
	Q% T" �
�¨ � (1) _B dmin . ![1L� ��="A ���$9�
 ������� :#
CL 2="��7�(2) �$o�
� �9���
 °2� °5� °10� °20� °308��rY% �#�9 ����6 !	-�KA �9��j�  . T%�


� �r�#s� pI� \�=]�C� T�U =Of �1 >�0 _���b
� pI]7� ��* �-#�9 � �'A T�
� �2="��7� ![1L� =9=3 F=
 �
X[
 �	9��
� � ���#
� �Xf�7� �r�#s� pI� \�=]�C� T�� �r=$"4.  
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 2��3
��1  
 �4����1  
  

 �����1  

H'-�� ��3+"�  

�3+"�� ��-1���I��"��� I��"��� JK��J���� 

dc km ��0 �6��
� @A !	K�L� !IJ� T% !-��7�+�� �q$
� =	k 
 ������� :#
CB <	�$� !-��% :��6 � !%=]��7�(1) 

 !
��X7�(24) ��� 

dh km _#9���
� <-L� !-��%!	K�L� !IJ� �r�#* �1�% T% !	r�7�   =$�
�1 � 
 �	9��
�2 

 �B ���
��?�S�  

dlm km �2����% !9�0 !-��% >#dB!?I$7�  2A !-��7� ���� �di �
� !%=]��7� 7 _�����
� :���� :#
CB <	�$� !-��

 �������(1)  

 =$�
�2.4 � 
 <g
7�1 

��� 

dtm km  G�L� W
" !-��% >#dB) !9�0 _B +!	
6�C( !?I$7� �1A + 
 !?I$7�2A !-��7� ���� �di� !%=]��7�  _�����
� :���� 

 <	�$� !-��7:#
CB�������  (1)  

 =$�
�2.4 � 
 <g
7�1 

��� 

D m   �Xf�7� t�XSD� pI� =9=3 � \=]��7� �r�#s� �Ik
 �r�#O

) �	9��
�4(  

 �	9��
�4 ��� 

f GHz  �����
�MHz 100 @A GHz 105 v ��� 

Gmax dB  t�XSD� pI� � \=]��7� �r�#O

 _�#J� ���
�
 �r�#O

 �Xf�7�) �	9��
�4(  

 !
��X7�(83)  �B ���
��?�S� 

GT dB ` �r�#* ��1 �#�9 �B G��[9 �G�L� !IdB 42 �
=]��7� <	�$� !-��% :��6 � \ :#
CB �������(2) 

 !
��X7�(57)  ��� 

hR 

km G�L� �#- �
X[
� �I7� t�[���  �	9��
�3  ��� 

Lb( p1) dB   !	C�CL� >�C�D� 2���� T% �0 �#��7� ��L� =��
 �fB T% !0#
I7�% p1 ������� :#
CB T%j T% (1)  

 =$�
�1  ��� 

Lb( p2) dB   !	C�CL� >�C�D� 2���� T% �0 �#��7� ��L� =��
 �fB T% !0#
I7�% p2  ������� :#
CB T%j T%(1)  

 =$�
�1  ��� 

p1  % !9#$�
� !9#�7� !��$
� pC#�%T%�
� T%  ������� :#
CL 
(1) �	6 �p1 ��I$
� � �*: 

%1 @A %50 ����
 !��$
�0  f M0 MHz 100� MHz 790  
%0,001A  @%50 ����
 !��$
�0 f   M0MHz 790� GHz 105 

 !
��X7�(8)  �B ���
��?�S� 

pw1 %  ������� :#
CL �OS B#CB � T%�
� T% !9#�7� !��$
�(1)  =$�
�1.6 ��� 

p2 %  ������� :#
CL T%�
� T% !9#$�
� !9#�7� !��$
� pC#�%(2) 
%0,001 @A %10 


��X7� !(9)  �B ���
��?�S�  
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 �����1 )����(  

�3+"�� ��-1���I��"��� I��"��� JK��J���� 

pw2 %  ������� :#
CL �OS B#CB � T%�
� T% !9#�7� !��$
�(2)  =$�
�2.7 ���  

rE 

km  G�H
 �
X[
� �I?
� �Z�(km 8 500 =)  �	9��
�3 ���  

R( p2) mm/h =X% �I7� >#I* >�ª _�
�_j��� + ��=?¬ 8�	IC� %p2 T% 
������� :#
CB ��0��6 � \=]��7� �!$�
�(2)   

 �	9��
�3 ��� 

s km  !-��7 _�����
� :���� � !%=]��7� !-��7� � 2��9�
�
 <	�$�
�) �* �� W4#7� !�	?
�km 1( 

 =$�
�1 ��� 

ε 
�0��f�= !IJ� �r�#s !	�	r�
� !%��� t�[��� !9��jL� !	K�  =$�
�3 T% 
 �	9��
�3 

��� 

φ 
�0��f�= � \=]��% �r�#O

 !	�	r�
� !%��� �#` T% _��j �
�¨
 �r�#O

 �Xf�7� t�XSD� pI�) �	9��
�4(  

 �	9��
�4 ��� 

γΡ 

dB/km �I7� ���0 �"#$
� M*#�
�   �	9��
�3  ��� 

λ m  �Xf�7� t�XSD� pI� =9=3 � \=]��7� !f#7� >#d
 �r�#O

) �	9��
�4( 

 �	9��
�4 ��� 

θh 
�0��f�=!	K�L� !IJ� � <-L� t�[��� !9��j  =$�
�1 T% 
 �	9��
�2 

��� 

θbw  
�0��f�= �r�#s� !%�6 G�"dB 3pI� � !%=]��7�  t�XSD� 
 �r�#O

 �Xf�7�) �	9��
�4(  

 ���
��X7�(95) 
�(96) 

��� 

ρ g/m3   _#{� h�7� ��, !-�Q1�*j��� _�ª y
� ��=?¬ %50 T% 
T%�
� 

 ���
��X7�(21) 
�(56) 

��� 

ρ0 

g/m3
  _#{� h�7� ��, !-�Q1 _�ª y
�j����* ��=?¬ %50 T% 

T%�
� !	K�L� !IJ� �  

 !
��X7�(22b) ��� 

ρdmin g/m3
  _#{� h�7� ��, !-�Q1�*j��� _�ª y
� ��=?¬ %50 T% 

T%�
�  =$" dmin "!
Z
� _' ���
� W
  
 !
��X7�(22b) ��� 

ρi g/m3
 1�*j��� _�ª y
� _#{� h�7� ��, !-�Q ��=?¬ %50 T% 

T%�
� � �����
� ��#I� T% 2#I� ��
 :#
CB�������  (1)

 !
��X7�(32) ��� 

ω 
�0��f�=o�� �1�7 !��$
�0 G�L� !I` :�I?�C� !9��jN ����7� 
 :��6 � !%=]��7� ������� :#
C�0 2="��7� ![1L� (2) 

 =$�
�4 T% 
 �	9��
�3 

��� 

ζ 
�0��f�=  !	K�L� !IJ� G�" p�) >���
��f#% :#${� ��
�C(  ���
��X7�(1a) 
�(1b) 

��� 
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 2��3
��2 

 �4����1  

 ���
��� ����� ����
�� ����� ���
(1)  

  

1  56��� +7
  

������� :#
CL !��$
�0 �=^ =k (1) �o�� ¦X�
 !	K�L� !IJ� G�X�� �B )/k#7� �o6 ( 2����� x9��b�
� N�;
�s . e�X� \=]��9�Ah ������� :#
CB &'#( � (1)������ � )
' ���	
  . �o6 T" !n�$
� !	-�KD� 2���E� ��3�

�
9 ��1 �"�XS +��� �1 ��=�%� W
" !	K�L� !IJ� ��#f � /k#7�.  

�=3 _#9���
� <-L� !-��% dh!	
��
� !kYX
�0 !	K�L� !IJ� �r�#* �1�% T% !	r�7� :  

  

  dh=   

km 0,5   

 <-L� !-��%(km)  

km 5,0   

 !-��7� ���1 �'A �B <-L� !-��% T" ��%#
X7� �-#�� � �'Akm 0,5 >  

 F=% ���� !-��7� +�* ���1 �'Akm 0,5 ≥ <-L� !-��% ≥ km 5,0  

 ���1 �'A <-L� !-��%km 5,0 <  

 ��3 <-L� !9��jθh) ��f�=
�0 .( F#��7� M0 !	K�L� !IJ� �r�#* �1�% T% !	r�7� !9���
� �¡B W
" �$* c��X� �*�
 +����0 _��7� <-L� |�� t�XS� �?-L��#Z?7� . !�	k �#���θh !�f#%�?-L� F#��7� �#- _��7� <-L� �#�9 �%=$"  .

��b
� T%� >#6 �#��
� /	�{ !	?-L� �9���
� =9=3 _� _B!	K�B !I` . ����9�0 8�%#�" )
�0 \�	?
� �[�9 8�	
�"�
 ��=?¬ ���
� � !�k�X�%°5 . )
� M0 �=3 =k y
� �	�=
� <-L� �9��j =9=g�
 T�U =Of �1 >�0 T% =0 � )
' /%�

 ��=?¬ !�k�X�7� ����9�
� � �O	- �q� y
� �#��
�°5����"�� � �9���
� +�* ��B� .  

 <-L� !-��% |	gZ� ��^ �r=$"(dB) Ad!
��X7� \�=]�C�0 !	K�B !I` T% �� �1 ��=�%� W
" :  

 ( ) dBexp1
5

5.0
exp115 3/1






 θ−−














 −−= f
d

A
h

h
d 0)1(  

 x9��b�
� �o6 T" !n�$
� 2���E� t#�� ��^�l��
� #g$
� W
" !	K�B !I` T% �� �1 ��=�%� W
":  

 

( )
( )

( )














°<θ




 487111+

°≥θ>°θ




 487111+

°≥θ+θ+θ+

1/2

1/2

1/31/2

5.0–fordB0. 000.05.1–

5.0–0fordB0. 000.03

0fordB  5.41log 20

––

––

h

hh

hdhh

ff

ff

Αff

Ah  =   

)c11(

)b11(

)a11(

 

  !�	k =9=3 MX�9�AhM	
��
� Md��
�0 �[� ��
 :  
 Ah ≤ (30 + θh) 

�  (12) 

 Ah ≥ –10 
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 !�	k �B �1�
�0 �9=f�θh ����X7� � (10)� (11)� (12)��f�=
�0 8�%�� �#�� �B MX�9  .��X7� ��=�� �B �6Y9� � !-
X7� !
��(12)L 2�=` !	Xk�#
� >�#6L� � <?g�� � =k ��=�� +�* &��� !9���� �.  

2   8� &���#
��MHz 100 9
 MHz 790����:   

!9#$C !9#�% !��� pC#�% W
" t�[
� ��* � ���#
� ������� &'#( �Z�?9T%�
� T%  p1 T% F=7� � %1 @A %50.  

#4#7� �����
� !	
�" \�=]�C� MX�9� =$�
� � !-1 <g
7� T% 1 . !
��X7� N		?� _�ª�(14) ����X7� :��6 ����9 § T%� 
 T%(15) @A (18) �	�=
� <	�$�
� !-��% T% ®h�=�0� dmin =$�
� � !-#4#7� !?9�I
� T" ¯�$� y
� 1.5 ��-���

 !��$
�0 )
'� 

di �	6 i = 0 �1 �2 ... !�C�$% ��#I, 2=9���% ����*� .�� @A ���9 ����� �1 di W
" !9��{� !-��7� �¡B . ������
M�	
��
� M�gf���7� T% _B !g	g4 |�Z� �B @A !	
�X
� +�*:  

 L2( p1) ≥ L1( p1) (13a) 

�B 

 di ≥ dmax1 (13b) 

 !0#
I7� <	�$�
� !-��% ���� §d1e�L� �����

 !$*��
� !-��7� T% .  

� W4#7� !	ª�=�
� 2��9�
�� !-��7� � �(km) s �* km 1 . ����X7��(16)� (17a)� (17b) y
� ��e�7� �A >��$�� � 
=6�� �	$Z� @A �O
1 ���$� . 2=6�� !?I$% T% �Q1B @A ���$� \��kB W
" ����9 �%=$"�)� �0/� ���0 �; �B/ �; �B

 =$�
� �q�� ��-��2.4 (�C�� <	�I�0 <	�$�
� !-��% &��$�C� T�� �1 �B G���-� W
" !0#�J� ¯r��$
� W
" �
��=
� >���
8��; �B 8��0 e�7� .�% ����9 �%=$"�e e�7� ��=�%� W
" ��g�
� �1 G���-� ���$9 !�-�=
� ��g�
� !?I$% T% \��kB W
" _�; 

!�-�� ��; �¡B W
".  
 hb ApLpL −= )()( 111 (14) 

 �	6(dB) Lb( p1)�7� ��L� =�� �*  �fB T% !0#
I7� !	C�CL� >�C�D� 2���� T% �0 �#�%p1T%�
� T% .  

������� �	
	��  

 �fB T% !$*��
� !-��7� ��3 !9����� !	
�" �1 !9�=0 �i = 0 �1 �2 ... ���*�:  
  · sidd mini += (15) 

 N		?� _�ª� 2���E� �9��?%Lbl( p1)�  Lbs( p1)8�	
1 _�0 e�7� �B G���-�)  !?I$7�1A �B 2A ( 8�	
1 ���0 �; �B
)!?I$7� B ( 8�	
1 �-�� �; �B) !?I$7�C ( �k�X�
� W
" �l�#�
� W
"T%!	
��
� ����X7� :  

ibl dpfpL 1.0log10log208.142)( 11 +++=  � 8�	
1 /?� ��e�7  !?I$7�1A �B 2A  (16) 
  

 ��e�7�O
1 
� !?I$7� B  (17a) 

 ��e�7�O
1 
� !?I$7� C  

( )
( )

( )


























+×+−+
++










+
×+×−+−+

++

−

+

−−

2.201095.1)1581.0–ƒ()70037.0(

)(log266.1ƒ8401log343.49

2.20

1072.910202.0)1581.0–ƒ()7001.0(

)(logƒ195.1ƒ8401log91.49

3
1

210

453.0)598.2468.0(
1

1.58

2
1

292
1

5

597.038.1
1

393.076.1

pdd

dpd

pddpd

dpd

ii

i
f

i

iii

ii

  

 

 

 

 

Lbs( p1) = 

(17b)
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�
9 ��1 !$*��
� !-��7� � !	C�CL� >�C�D� 2���� ��3�:  

 ( ) ( ) ( ))()(5.5exp1 11

1.1

112 pLpL
d

d
pLpL bsbl

i

tm
bs −







































−−+= (18) 

 !�	k �	6dtm =$�
� � !-��X% 2.4 <g
7� T% 1.  

3   �� ��������MHz 790	 GHz 60  

C#�% W
" t�[
� ��* � ���#
� ������� &'#( �Z�?9!9#$C !9#�% !��� pT%�
� T%  ( p1) F=7� � %0,001 @A %50.  

� =$�
� � !-#4#7� )
�1 !9����� !	
�" >��X�C� MX�91 <g
7� T% 1 . T% ����X7� N		?� _�ª�(20) @A (30) _�ª § 
 �	�=
� <	�$�
� !-��% T% 8�����"�dmin =$�
� � !-#4#7� !?9�I
� \�=]�C�0 !��$
� 1.5 ����X7� :��6 (31) @A (41) 

 ��-���

 !��$
�0 8�9�����di�	6  i = 0 �1 �2 ... !�C�$�% ��#I, 2=9���7� ����*� . !�	k @A ���9 ����� �1 ��di 
!$*��
� !-��7� �¡B W
" . T% _B |�Z9 �B @A !	
�X
� +�* ������M	
��
� Md��
�8�g	g4 :  

 (L5( p1)  ≥  L3( p1)) 

� (L6( p1)  ≥  L4( p1)) (19a)  

�B di  ≥  dmax1 (19b) 

!0#
I7� <	�$�
� !-��% �#�� �r=$" d1e�L� �����

 !$*��
� !-��7� �* .  

 �� W4#7� !-���

 !	ª�=�
� 2��9�
��(km) s �* km 1.  

 �"#$
� M*#�
� ��^ §(dB/km)c�{� h�#s� ���0 �
9 ��1 :  









>

≤×












+
+

+
+×=γ

77.56for10

77.56for10
50.1)57–(

81.4

227.0

09.6
1019.7 3–2

22

3–

f

ff
ff

o
 

)b20(

)a20(
 

 !�	?
 !
�=1 h�7� ��, ���0 �"#$
� M*#�
� T" �X9�ρ ��=6#
 h�7� ��, !-�Q1 �*� 3
m/g!	
��
� !
��X7� ��; :  

 

42

2
10

5.8)2.22(

6.3
0021.0050.0)( −×ρ















+−
+ρ+=ργ f

f
w

 (21) 

� �"#$
� M*#�
� ��^(dB/km) &'#�$
 !��$
�0 h�7� ��, ���0 ��!-�Q1 >��X�C�0 _e[C#0���
� ����� �*�=k h�7� ��]�
 
3
m/g 3,0: 

 γwt = γw (3,0) (22a)  
 !	4#�
� T% W?��9�ITU-R P.836 h�7� ��, ��-�Q1 pC#�% ρ0� !	K�L� !IJ� � ρdmin !-��% =$" dmin ��=�%� W
" 

 ���
��#Z?7�.  

 §T" Nf�$
� M*#�
� ��^
� !-��7� ���� /?9 _�
� e�7� T% h�{� )
�
 h�7� ��, !
��X7� \�=]�C�0 �	�=:  

 






 ρ+ργ⋅=
2

0 mind
wminw dA (22b)  

 �	6ρ0� ρdmin �	9��
� � ���-�X% 1 <g
�

 1.  

� ����
� W
" =��X7� ��9�o

 �"#$
� M*#�
� ��^(dB/km): 

 

3/1
05.0 fd =γ (23) 
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����� ���	
� ���
�� �������  

�� � �S��7� ����kY
 |	gZ�
� ��=?% ��^ �g�
� �#- >�(dB):  

 

)1(

6

c

c

d
A

+
−= (24)  

 �	6(km) dc7� �*  +���� � �6��
� @A �
� � !Xk�� !	K�B !I` T% !-���#Z?7�.  

� �#��dcF��L� c��q
� � �[4 .  

 �r��E� T% h�{� )
' ��^� � y
� !-��7� W
" =��X(dB):  
 wch AAAfA ++++= log5.1643.1221 (25) 

 !-��7� W
" =��X� y
� �r��]

 !0#
I7� �	�=
� !�	?
� ��3(dB):  
 1113 )()( ApLpL b −= (26) 

x9��b�
� t�[���0 !I���7� )
� �O	- �¬ ��r��E� T% �*eV� e�7� W
" 2=��X7� !	-�KD� �r��E� ��=?% �"��9 �%�" �=^:  
 εL = 8.5 (27) 

��� ���
�� �������������	��� 	���  

)
' ��^ �r��E� T% h�{� � y
� ����
� W
" =��X(dB):  

 

2

2
log5.2)log(25 















−= f
fL f (28) 

 !-��7� W
" =��X� � y
� �r��E� T% h�{� )
' ��^(dB):  

 

7.0

1
02

50
log1.10 15.01036.187 















−−−+θ+=
p

NLA fh (29) 

�	6:  

  θh:   !	K�L� !IJ� � <-L� t�[��� !9��j)��f�=
�0(  

  N0:  �!9�����e�7� �1�% � �g�
� F#��% � |I�
� .  

 !-��7� W
" =��X� y
� �r��]

 !0#
I7� !�	?

 ��L� =�� ��^(dB):  
 L4( p1) = Lb( p1) – A2 (30)  

����	���� �������  

 !-��7� ��3 ����� !	
�" �1 !9�=0 �!$*��
� �fB T% i = 0 �1 �2 ... ���*�:  
  · sidd mini += (31)  

 !-��% =$" G�L� |IC W
" /k#�

 !��$
�0di ���
� W
" �#Z?7� !	4#�
� T% W?��9 ITU-R P.836 ��, !-�Q1 j��� 
 �fB T% h�7�%50 T%j T% (

3
m/g) ρi .!
��X7� \�=]�C�0 _j��
� ��Z�%�� ���0 !-��7� W
" =��X7� M*#�
� ��^ §: 

 ( ) ( )∑
=

⋅ργ+⋅γ+γ=
i

n

nwidog sdA

0

 (32) 
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 �	6 γw(ρn) !
��X7� T% ��3 (21).  

!?I$7� W
" =��X� y
� !	
��
� ���
X7� ��3:  

 














 ×−−=τ − 41.24
 1012.4 exp1

lm
d (33) 

 �	6dlm 

��X% =$�
� � !-2.4 <g
7� T% 1.  

 

( )[ ]
2.0

5
354.0496.06.616

1 1010

















+=µ τ+−τ−
−

tm
d

 (34) 

 �	6dtm��X%  =$�
� � !-2.4 <g
7� T% 1.  

µ1  W
" �Z�?�µ1 ≥ 1.  

 τ×ε−−=σ −
 106.0
1.39

iL d (35) 

σ W
" �Z�?� σ ≤ 3,4–.  

 

( )σ−×=µ 24
2 1048.2 id (36) 

µ2 W
" �Z�?� µ2 ≥ 1. 

 









°>ζ

°≤ζ
=µ

µ

µζ+−

70for10

70for10

1

1

log3.0

log)0176.0935.0(

4

r

r

r

 

)b37(

)a37(  

 e�7� W
" =��X7� ��9�{� ��=6 ��^β)
�0 !I���% !�
X%�  Γ >�C�D� 2���E T%�
� W
" ����"�� :��� 
!	C�CL�:  

 421 µ⋅µ⋅µ⋅β=β p (38) 

 

( )[ ]13.162

012.1
10)(log198.0log8.451.9 exp 

)log0058.2(

076.1
id

−×β+β−−
β−

=Γ (39) 

 �r��E� � !-��7� W
" =��X7� h�{� ��^(dB)��9�{� �fL : 

 

Γ
−










β
+









β
×++= 113

15 12log)107.32.1()(
pp

dApL ig (40) 

_e[C#0���
� ��Q���� �fB T%�: 

 ( ) iwtoii dddpL )()2(cos151121073.5)(log20)( 4
16 γ+γ+ζ−×+= −

 (41)  

4   �� �� �����	
�GHz 60� GHz 105  

 &'#( =��X9����	
	7� ����
� F=% � �����_� T% GHz 60  @AGHz 105W
" =?� W
"� ��� h�b[
� � 2���E�  �9
2e�4 !9#�% ��� � 2��SD� ���9�X� 2�"��7 °%�* @A !-�KD�0 _j��
� ��Z�%Y
 �[g�%T%�
� T%  . \�=]�C� |Z9�

 T%�
� T% !9#$�
� !9#�7� ��$

 ��* ������� &'#(p1 T% F=7� � %0,001 @A %50.  
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MX�9� ��1 !9����� !	
�" \�=]�C� eSB =$�
� � 1 <g
7� T% 1 . T% ����X7� N		?� _�ª�(43) @A (47) ����� _�ª § 
 M�
��X7�(48)� (49) �	�=
� <	�$�
� !-��% T% 8�����"� dmin =$�
� � !-#4#7� !?9�I
� ��; 1.5�	6 � i = 0 �1 �2 ... 

���*�!�C�$% ��#I, 2=9���% � .� @A ���9 !9����� !	
�" �1 �di!$*��
� !-��7� �¡B W
" .  

M�gf���7� F=6A |Z� �B @A !	
�X
� +�* ������:  
 L9( p1)  ≥  L8( p1) (42a) 

�B  
 di  ≥  dmax1 (42b)  

 !0#
I7� <	�$�
� !-��% �#�� �r=$"d1����� ��± !$*��
� !-��7� �* .  

�� W4#7� 2��9�
� !-��%� (km) s �* km 1.  

 �"#$
� ��Z�%�� ��^(dB/km) ����
� F=% � c�{� h�#O

 GHz 105-60!
��X7� \�=]�C�0 :  

( )

















≤

>×






+
+






+

+
+××

=γ

GHz26.63fordB/km10

GHz26.63for1024.6
771.1)75.118–(

28.0

936.0)63–(

4
102.1–1102

4–2

2

2

5.15–4–

f

ff
f

f
f

om 

)b43(

)a43(  

  

 �"#$
� h�7� ��, ��Z�%� ��^�(dB/km) ��=?¬ _#f h�% ��, F#�J 3
m/g 3 �
9 ��1:  

 

( ) 425.04
10369.2107.7039.0

−− ××+=γ ff
wm

 (44) 

��^� �"#$
� _j��
� ��Z�%Y
 �[g�7� �9=?�
� �
9 ��1: 

 γgm = γom + γwm                dB/km (45)  
 !	K�L� !IJ� � /k#7� �o6 !�	k� :#
I7� ����
� �fB T%(dB) Ah =$�
� � !-#4#7� !?9�I
� \�=]�C�0 !0#�J� 1 T% 

�7� W
" =��X9 � _�
� h�{� )
' ��^ ��	9��
� ��* !	C�CL� >�C�D� 2���� T% !-��
9 ��1: 

 L7 = 92,5 + 20 log ( f ) + Ah                dB (46)  
 !-��7� W
" 2=��X7� �r��]

 �	�=
� !0#
I7� !�	?
� ��3(dB):  

 L8( p1) = Lb( p1) – L7                dB (47) 

��������� 	
�
�
�  

��7� ��3 ����� !	
�" �1 !9�=0 � �fB T% !$*��
� !-i = 0 �1 �2 ... ���*�:  
  · sidd mini += (48) 

!$*��
� !-���

 !��$
�0 !-��7� W
" 2=��X7� �r��E� ��3:  

 






















 −
−++γ=

50
log

10
exp16.2)(log20)( 1

19

pd
ddpL i
iigm (49) 



 �������ITU-R P.620-6 

 

17

 �������3  

 �	
�
�1  

  

 �
����� ��
�� ������� ��
�� �
��(2)  

  

1  ��
� ��  

 ������� :#
CL !��$
�0 �I7�0 ��Q���� ���=� :��� <	�$�
� !-��% =9=3 !	oO$% =��X�(2) M�Ig¬ ����� !
��X% W
" 
 �9�?� W��9 �%�"!?	b
� !%��� "©� �	6 !	K�L� !IJ� �r�#s³#X �r�#* � ��Q���� No6 T" !n�$
� ������� 2���� G

�r�#s� ���0 !	K�L� !IJ� . ���Q���� No6 @A G�L� !I` T% e�7� >#d W
" @�L� !f�=
�0 =��X� !?9�I
� ��- �	
"�
�I7� !	
� _B.  

 j��� ´ �'A% h�$iB �I7� >#I* >=X%p2  �k#
� T%R(p2) ≥ mm/h 0,1-  ������� :#
CB <	�$� ![1B =9=3 ���$9 ���(2) 
 +�=k �K���-� �I% >#I* �fB T%mm/h 0,1.  

a�R� >�C�D� 2���� ��=?% W
" >#Z�� T% +���B 2���#
� !	%j��#E� T(dB) Lr( p2) �I7� >#I* >=X7 !��$
�0 !
�=1 
(mm/h) R( p2) G�L� !IJ T��7� /k#7�� �I7� !	
� !-�6 M0 !
4�[
� !-��7� !�
X�1 \=]���� (km) ri . |K#9�

 ���
�1�I7� �i�$� !	
�" !C=$* .  

  
 �����1  

�	
�� 	�
�� ����� ����  

  

  

0620-01

ε

d
e

d
c

r

h

R

h

m

���� 	
��
�

�
�� ��� ����� 	
����

�
�� ���

�
�� ��� ��

�������� ���!� 
��
��"
�� ��#$%� 

 ���� 
��"
��

h
m

 +
 d
c
 t

a
n

 ε
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l��
� #g$
� W
" _#{� h�7� �i�$� c�[1 =9=3 !	[	1 �#���:  

 !�	k &��]�C� ���$9R(p2)  !	4#�
� T%ITU-R P.837 !9#�7� !��$
� T% :#
I7� pC#�7� �fB T% p2 )%0,001 @A %10 (
7� >#I
� p�� G�X
� p� yI?� =9=3�!	K�L� !IJ� /k#7 M��rY.  

 N	k ��3 §Lr(p2) N	?
 ri F#Z?
� :���� !-��% T% ®h�=�0� ��Z?$
� � !f�=�7� dmax2  ������� :#
CL(2) � 2���#
� 
 >�={�2 .�� W4#7� uk�$�
� !-��%� (km) s �* km 1 . !�	k u?�$��ri ��=?7 !
0�?7� !�	?
� �#�� 56 8�	ª�=� Lr(p2) 

 !0#
I7� >�C�D� 2���� ��� ���
�0Lb(p2) . !�	k u?�$� �	
"�ri 

M�gf���7� F=6A |Z� 56 8�	ª�=�:  
 )()( 22 pLpL br < (50a) 

�B  
 mini dr < (50b)  

�	�=
� :���� !-��% e�L� ���
� ��* �Q� �	6.  

 :���� !-��% �#�� �r=$"dr% !?0��
� !�	?
� �*  !�	?
 2�S��ri:  
 )1(21 −⋅−== − isdrd maxir (51)  

 !��$
� :���� !-��% �#���dr e�% 2���� �O$" No$	C y
� �I7� !	
� !-�6� G�L� !I` M0 ������� e�% >#d �* 
!0#
I7� >�C�D� .��X9 ���
� � �I7� !	
� T% ��Q���� �6�$� G���-� W
"�% 2�r�� ��B W
" <	�$�
� c�[1 c !-�6 �*�1�

 �*�Ik �Z�� �I7� !	
�dr.  

 �*�Ik �Z� 2�r�� ��B W
" <	�$�
� c�[1 NC�9 �r=$"dr !-��% W
" �*�1�% /?9 de 

J� T% +���� ��=�%� W
" !	K�L� !I
 �	6 !	K�L� !Ig�

 y��
�de ���
� M�9 ��1 �I7� !	
� !-�6 @A !	K�L� !IJ� T% !-��7� �* 1 .1 �
9 ��	-� !	[	

 !-��7� =9=3de.  

2  ������ ��	
� ���	
  

 =$�
� � �1' ��12.5 <g
7� � 1 !-��7 _�����
� =9=g�
� � !%=]��7� F#Z?
� !-���

 �	
" ��=6 /K� T% =0 � 
!9�����
� ��0���� �*=$" B=�� y
� :���� . ������� :#
CB �fB T% !%=]��7� W�qX
� :���� !-��%�(2) (dmax2) 

 >�={� � 2���� �*� G�X
� p� !f�� W
" =��X�2.  

 

 �����2  

 ������ ��	�
�� ����

(km) (d
max2)  ������� �����(2)  

 G�X
� p�)
�0��f�=( 30-0 40-30 50-40  60-50 60 <  

 !-��7�(km) 350 360  340 310 280 

  

3   ������� ������ ��	���� ���� ��	�(2)  

�� ��=?% �=^ �fB T% �I7� >#I* >=X% j�%p2 

 T%�
� T%R(p2) !	4#�
� T% ITU-R P.837-3 p�� G�X
� pE !��$
�0 
!	K�L� !Ig�

 >#I
� . �B �6Y9�%p2 

 ������� :#
CB � <�I� y
� T%�
� T% !9#$�
� !9#�7� !��$
� pC#�% �*(2).  
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I7� t�[���� �I7� >#I* >=X% �B 8�b9B !q6Y7�0 �9=f� !	
� /k#%� !	K�L� !IJ� /k#% M0 8�e�1 8����[� ���[�9 T
 �
 T% �kB 8�%#�" �#�� M�I?$
� M��* M0 !-��7� �A 'A !	K�L� !Ig�

 ���
� +��� ��=�%� W
" �I7�km 30~ �%=$" 

�  T" !	K�L� !IJ� t�[��� �9��j �?�°10.  

  �"#$
� M*#�
� �=^(dB/km) γR T" Nf�$
�  !	4#�
� \�=]�C�0 �I7�ITU-R P.838_�#�" :�I?�C� G���-�0 .  

�I7� !	
� �Ik �=^ (km) dc�
9 ��1 :  

 

08.0
2 )(3.3 −= pRd

c
 (52) 

 G�L� �#- �I7� t�[��� pC#�% �=^(km) hR !	4#�
� T% ITU-R P.839 !Ig�

 >#I
�� G�X
� �IE !��$
�0 
!	K�L�.  

 !I	C� !�
X% ��3η:  

 

19.0
2 )1)(( +=η pR (53) 

!	Xf�7� !-��7� ��3 (km) rm����7� �i�$�
� No6 &��� M*#�
� �fB T% :  

 

η−− ×= 10)(600 5.0
2pRr

m
 (54) 

 c�{� h�#s� ���0 �"#$
� M*#�
� N		?� _�ª�(dB/km)!	
��
� !kYX
� T% : 

 

32

22

3 10
5.1)57(

81.4

227.0

09.6
1019.7 −− ×













+−
+

+
+×=γ f

ff
o (55)  

 !	4#�
� W
" 8�����"� �=^ITU-R P.836 !	gI�
� h�7� ��, !-�Q1 (
3
m/g) ρ !��$0 =�� j��o�� y
� %50 =$" T%�
� T% 

!	K�L� !Ig�

 >#I
�� G�X
� �I� .8�b9B �6Y9�� ������� :#
CB ![1B =9=3 � p	���
� �	�k T% (2)� !-�Q1 �B 
 h�7� ��,!�0�i G��[�e�7� ��=�%� W
"  .�]�
 �"#$
� M*#�
� �=^ �r=$" ��S � h�7� �dB/km�
9 ��1 :  

 

( )
42

2
10

5.82.22

6.3
0021.0050.0

−×ρ












+−
+ρ+=γ f

f
wv

 (56) 

 G�L� !I` �r�#* ��1 �=^) �#�9 �B G��[9dBi 42:(  
 GT = 42 (57) 

  

��������� 	
�
�
�  

 ����X7� N�	?�(58) @A (77) >�={� T% 2'#��7� F#Z?
� :���� !-��¬ ®h�=�0� �!
%�S 2 !-���

 !Zk�$�% N	?
 ri�	6  
 �#��ri �#�� �	6� G�B !IJ T��7� /k#7�� �I7� !	
� M0 !$*��
� >�Z[��� !-��% i = 0 �1 �2 ... ���*�:  

 sidr maxi ⋅−= 2 (58) 

 /f���7� � ���#
� ���
� <?g�9 56 !	
�X
� +�* �4�#�(50) �I7� T" Nf�$
� �i�$�
� :��6 !-��7 �#�9 �r=$"� dr 

 !�	?
�
 <�CL� !-���

ri_B �:  

 sidd
maxr

⋅−−= )1(2 (59)  
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 @A �����
� :��6 F�B �'A�dmin > dr  �r=$"dr 

 =dmin%� �����
� !	
�" �O�$� § T.  

!	K�L� !IJ� T%� G�L� !I` T% �r�#s� y%�6 M0 /d�?�
� !I?$
 G�L� |IC �#- t�[���� �=^:  

 







−

δ
= 1

cos

1

Em rh (60) 

�	6:  

δ�*  !$*��
� !-��7� � G�L� |IC W
" !I?$
�� �I7� !	
� M0 _���
� �4�[
� ri:  

 rad

E

i

r

r=δ (61) 

  rE:   G�H
 �
X[
� �I?
� �Z�rE 

 =km 8 500.  

 /d�?� !I?� @A G�L� !I` T% e�7� >#d �=^M�%���:  

 

m

E
mt

h

r
hr 21+= (62) 

�� /d�?� T% e�7� >#d �=^!	K�L� !IJ� @A M�%�:  

 ε−++ε= sin2sin
222

EEmmEr rrhhrr (63) 

�	6:  

  ε:  !	K�L� !IJ� �r�#* t�[��� !9��j.  

�I7� !	
� !-�6 @A !	K�L� !IJ� T% !	?-L� !-��7� �=3:  

 







ε

+
= cosarcsin 

Em

r
Ee

rh

r
rd (64) 

 !�
X7� ��3hc�� /d�?�� �	6 �I7� !	
� ���� !?I$7� W
" =��X� y
� ���%�:  

 









ε+≥ε+
ε+<<

≤
=

tanfortan

tanfor                          

for                          

cmRcm

cmRmR

mRm

c

dhhdh

dhhhh

hhh

h (65) 

A !$*��
� !-��7� � !I?$
� T% M*#�
� ��^ /d�?� @M�%���:  

 




















−−=Γ

m

t
mR

r

r

r exp1γ2 (66) 

!	K�L� !IJ� @A M�%��� /d�?� T% M*#�
��:  

 













>



















−−







 ε−−γ

≤



















−−γ

=Γ

Rm

m

e

m

Rm
mR

Rm

m

e
mR

hh
r

d

r

hh
r

hh
r

d
r

forexp
cot)(

exp

for                               exp1

1 (67) 
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�i�$�
� �fB T% ���7� M*#� t#�� N	?9 ��0���� +�* T%��I7� t�[��� �3 �I7� ���0 :  

 














 Γ+
ε

Γ−=Γ 2
1

cos
23.0expb (68) 

�I7� t�[��� �#- =	
{� T%� ��OZ��� !?�d T% �i�$�

 e�7� M*#� t#���:  

 
















ε
−γ+

ε
Γ−=Γ

sincos
23.0exp 1 mc

Ra

hh
 (69) 

�I7� t�[��� �3 �I7� ���0 �i�$�

 �
X[
� �i�$�
� �?� !
�� ��3:  

 ( ) 
















ε−
ε−γ−−

ε+γ
=

cos1

sin
23.0exp1

)cos1(

34.4
mcR

R

b hhC (70) 

%��I7� t�[��� �#- =	
{� ���0 �i�$�
� �fB T:  

 ( ){ } ( ){ }[ ]ε+−−−−−
ε

= tan5.1exp5.1exp
sin

67.0
cRmRc

s

a dhhhhC (71) 

�
9 ��1 l�nD� >�X[
� �i�$�
� �?� !
�� ��3 �r=$":  
 aabb CCC   Γ+Γ= (72)  
 j��o�� y
� ������

 �
9�� �i�$� T% c��µ�� �=^GHz 10:  

 







=<
≤≤−=

0or when  10for                                                0

4010for           )()10(005.0
log10

4.0
2

7.1

bCf

fpRf
S (73)  

µ�� ��* �B �6Y9A <�I$9 � �
9�� �i�$� T% c����I7� t�[��� �3 �I7� ���0 �i�$� W
" .  

!	
��
� ��kYX
� T% #{� � ��j��
� T" Nf�$
� M*#�
� N�	?9 �±��. ������ � ���� ��
 !�-��7� e�7� >�#dB �=3 8��B 
t�[���� ��9�j�0 _j��
� �"#$
� M*#�
� � uk�$�
� .e�7� �fB T%�)
' �#�9 �I7� !	
� @A G�L� !I` T% :  

 





≥−+
<

=
km270for      )270(4.0243

km270for                          9.0

tt

tt

to
rr

rr
d (74a) 

 





≥−+
<

=
km220for)220(4.0187

km220for                         85.0

tt

tt

tv
rr

rr
d (74b) 

!	K�L� !IJ� @A �I7� !	
� T% e�7� �fB T%�:  
 

rro
rd 8.0= (75a)  

 

rrv
rd 5.0= (75b) 

 _j��
� M*#�
� �=^ �r=$"��1�
9 : 

 )()( rvtvwvrotoog ddddA +γ++γ= (76)  
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 >�C�D� 2���� �=g�� 8�e�B���1�
9 :  

 gTir AGSCpRfrpL +−+−−−+= log10log10)(log14log20log20173)( 22 (77)  

� �#�� !-��7�dr �I7� !	
� !-�6 @A G�L� !I` T% !-��7� �* +�* �����
� !	
�" T" ¯�$� y
� �#�9� <	�$�
� c�[1 
�r=$" �*�Ik �Z� 2�r�� ��S � dr !-��% W
" �*�1�% �#�9 deIJ� T% �O�� +��� ��=�%� W
" !	K�L� !� M�% #* ��1 

 ���
� �2. 

 �����2  

��	
��� ��
� ���� 

  

 

4   ���� �����	
 ��
�� ������
 ����
(2)  

a�RL� T ������� :#
CL 2="��7� ![1(2)�B !I` �r�#* !%�� y��
� �
�]�
� ������ � ���9 �B T%  /k#7 !��$
�0 G
¶�$7� !	K�L� !IJ�!? . ���
� M�9�3I?�% _#{� h�7� �i�$� !?I$% !�?-B #��% W
"  . !	K�L� !IJ� /?� ���
� ��* ��

 M�I?$
� =$" G�L� !I`�A� B !9��j +�=3 t�XS W
" G�L� !I` �#�� �	6 l�#�
� W
" ω !I?$
� T% C �1�% � 
B ���	r�
� c�[�
� ������� :#
CL ���KD� �(2) !I?$
� �#��� C="��7� c�[�
� �1�% 8�b9B .  

 ���
� � !

q7� !6��7� �QR3 !	K�L� !IJ� M0 )
'� !	K�L� !Ig�

 !	�	r�
� !%��� �#` ��=�%� W
" !f��� !?I$7� 
�I7� t�[���� .0 ����% No6 �	��� !f��� !?I$7� +�* ���� � T��� G�H
 !I` _B !%�6� !	K�L� !IJ� !%�6 M

 ������� :#
CL ���KD� �B ���	r�
� c�[�
� ����(2) . !f��� !?I$7� +�* >#d �#�9�b �?-L� �*�=% �#�9� 
 !I?$
� =$" WZkL�M .!IJ !	�	r�
� !%��� �#` /% !f��� !?I$7� +�* /d�?� _��9 c#C��% T% �0 ~�0 � �=k @A  

 Nf�$
� ���=�
� T"M	�	r�
� MZ[
� ����k� <9�d T" _#{� h�7� �i�$�.  

0620-02

d
e

d
r

���	
�� ��
������� ����

�������� ��	
� ��
��
��� ���� �����
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 �����3  

����� ���	�� � ������� ���
� 

  

  

 ������� :#
CB � ��KD� �B ��	r�
� c�[�
� ���� �% !I?$
 !��$
�0�(2)���
� !f��� !?I$�

 !
0�?7� !9���
� W���  !9
!f��� ψ . !9���� !9��j �QR�υ!f��� !?I$7� T" 8�=	X0 G�L� !IJ !	�	r�
� !%��� �#` !9��j  .�#��� ϕ �$� !9��j 

!	K�L� !IJ� /k#%� G�L� !IJ !	�	r�
� !%��� �#` M0 !%��� . M�9���
� t#�� �*�ψ� υ �s y
� �* !	��
� +�*� 
[�
 !��$
�0 !�0�i !�	k�=` ="��% c� . !9���
� e	��0 ="��% c�[1 �1 =	
#� _�ª�ω !-��7� &��]�C�� rb !I?$
� T% C 
="��7� c�[�
� @A . !9���
� ����� ��
1�ω T% °0 @A °360���9���
� e���  ψ� υ�
�6 W
" W?�9 ��O"#�� T�
� .  

 =$�
� � !	%j��#E� \�=]�C� T���1.4 :��� �	9��
� ��* �  ������� :#
CB � ="��7� c�[�
�(2) !$	X% !�	?
 !��$
�0 
 !%��� �$� !9��j T%ϕ.  

 !?9�I
� \#?�� !-��7� u	?$� ~�CB W
"rb 

 c�[�
� !-��% T% ®h�=�0� !	K�L� !IJ�� G�L� !I` M0 8�9������ 8�	ª�=�
 ��	r�
�dr 

 !
��X7� � 2���#
�(59) �kB @A >#4#
� 56 +Y"B  !-���

 !�	krb 

 �B !0#
I7� �	�=
� 2���E� �O	- <?g�� y
�
�	�=
� <	�$�
� !-��% @A >#4#
� 56 . N	k T% !�	k ��
 !��$
�0�rb 

 !f��� !9���
� ��?�ψ !9���� !9��j ��3 § υ.  §
 \=]��9 !�	?
 �0�?7� G�L� !I` � �r�#s� ��1υ  !$*��
� !-��7��rb X7� � �r=$" !
��(77) � e�7� 2���� :��� 

 ������� :#
CB(2).  

 !9��j ��
 !��$
�0 +Y"B !-#4#7� !	
�X
� �����ω �%�1 ="��% c�[1 =	
#�
 
 !%��� �$� !9��j N	k T% !$	X% !�	?ϕ .
 !9���
�� !%��� �$� !9��j ������k� ¦X�
 !��$
�0�ω ��	r�
� c�[�
� /% ="��% c�[1 c��Z�9 =?-  � ��KD� �B

 ������� :#
CB(2).  

1.4 ���� ���� ����	
��
  

 :#
CB � 2="��7� ![1L� NC�� �������(2) ��KD� �B ��	r�
� c�[�
� �1�% T% !XSL� ��=�%� W
" ��-��7� :��; 
 ������� :#
CB �(2) !I?$
� #*� C !-��7� =$" b/2 !	K�L� !IJ� T%#` �� ��=�%� W
" !	�	r�
� �O�%�6 � . !-��7��

b/2  _����de �	6 de !
��X7� � !0#�` (64).  

0620-03

b/2

b

M

d

r
b

θ
d

ω

ψ
2

ψ
1

ψ

ϕ

υ

C

!I`���� B

��	
� ���
 ��� ��������

���� 

�������� ����� ���

������ ������ 

 ����
 ��
���A



 �������ITU-R P.620-6 

 

24

 !%��� �$� !9���
 2���]7� !�	?

 !��$
�0ϕ !9���
� N	?
 ="��7� c�[�
� =a
#9 ω T% >��� ���� y
� °0 @A °180 � 
 �O$% �1 ��=?% ��#I�°1l��
� #g$
� W
" :  

 B (   �=3rbc�[�
� !-��7 ��KD� �B ��	r�
�  :#
CL� � (2) !
��X7� � !0#�J� (59).  

:(   !�	k ��3ψT% :  

 








−
=ψ

ωcos2

ωsin
arctan  1

br

b

b

 (78)  

 








+
=ψ

ωcos2

ωsin
arctan 2

br

b

b

 (79) 

 21    ψ+ψ=ψ (80) 

&(   ���1 �'Aψ < ϕ �r=$" 9 :#
CL� � ="��7� c�[�
� c��Z�(2)� ��KD� �B ��	r�
� c�[�
� /%  :#
CL� 
(2) !$*��
� !�	?

 !��$
�0 ω !�	?
� :��6 �����9� ω_ 2#IE� @A �?�$9�  .(� !	
��
� WIE� /��� a�A� (� @A (

� 2#IE� � !-#4#7� h�O���� ���S =6B <?g�9 �B @A (� 2#IE��.(  

�(   u?�$�rb ��=?% ��I0 km 0,2 �T%�O��	k .  

*(   !f��� !9���
� :��6 ��X9ψ0  ����X7� \�=]�C�(78) �(79)� (80).  

�(  ���1 �'A (0.5 b sin ω/sin ψ2) > dmin �  :#
CL� � ="��7� c�[�
� ��1�(2) �	�=
� <	�$�
� !-��7 c��Z% 
dmin !$*��
� !�	?
� �fB T% :���� ���1� =k� ω v �?�$9_ 2#IE� @A ( a�A� @Aj 2#IE� .(  

j(  !9���� !9��j ��3 ψ  − ϕ  = υ.  

�(  ��3!�	k  G(υ)*� �� !9���
� =$" G�L� !I` �r�#* ��1 υ pI� \�=]�C�0 �!%��� �#` @A !��$
�0 
 �	9��
� � ���#
� �Xf�7� �r�#s�4.  

�(   !
��X7� �(77)� 2#IE� � :#�J� ���
� \=]��9 � ( T% 8�=0GT 

 !-���

 2=9={� !�	?
��rb ��3� �
e�7� 2���� ������� :#
CB � !
0�?7� (2) Lr . ���1 �'�-Lr < Lb( p2)  ���� �r=$"rb !-�K�0 km 0,2 @A 

T*��
� t�X�
� �fB T% !-��7� �¡B W
" !-��7� +�* ����� �O��	k .� 2#IE� T% ®h�=�0� !	
�X
� ���� a�A�.(  

_(   2=9={� !�	?
� c�X� �7�6rb9���

 !$*��
� !�	?
� �fB T%  !ω !9���
� ��3 θd!	K�L� !IJ� /k#% T% � �'A� 
 !-��7� �%L� �"�d �)
� c�[�
� !I?� @A ��
9 ��1: 

 2sin/ωsin5.0 ψ= bd (81) 

 2ωθ ψ−=d (82) 

 ������� :#
CB � ="��7� c�[�
� �#�9(2)!	K�L� !Ig�

 !	�	r�
� !%��� �#` >#6 8��z�$�%  .�- ���*� N	k �d� θd 
N	?
 !
0�?7� ω T% °181 @A °359 N	k T% !$	X% !�	k _L !��$
�0 ¯r��$
� �B ~�CB W
" �O	
A �4#�
� T�� ω �O�[� �* 

 !�	?
 !��$
�0(ω−) �B (ω − °360).  

 =9���
� 2#I� ��=?%�rb _B �+Y"B !%=]��7� km 0,2>�#6L� NqX% � �C�$% � .!o	�$
� !�#�, N�g�9 #*� �q$9 �%=$" 
 N	k T% !"#�o�1 �O	
Arb. N	k � !9���
� !�#�E� ����� !	K�L� !IJ� !%�6 t�[��� !b[]$7� N	?

 !��$
�0� d� θd T%� 

 �r=$" T��7�e�Z� !-��% E�2#I.  
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 �������4  
 �	
�
�1  
  

��
������ ������ ����� � ����� �� �����
� ���!��� "��#$� ��%%&  
�'(�������� )*+ � ���*��� ,��-./ ��01��� ��'�2� � �����  

 3+1 
4 56 GHz 40  
) ������� �	
 ���
��
�ITU-R F.699(  

 � <	�$�
� ��0��6 � �s��X�C� !9#9���
� �Y6�7� !�q�B � �Z�
� p� ��	r�#s �Xf�% t�XSA pI� �	9��
� ��* \=?9
 ������� :#
CB(2)-#�9 � �%=$" �
X[
� �r�#s� pI� �.  

 pI� \�=]�C� T�U =Of �1 >��9 �B 8�=f _���b
� T%�� � �
X[
� �r�#s� �'A T�
� ����=�
� N		?�� <	�$�
� ��C�
 � ������
� �fB T% l��
� �Xf�7� t�XSD� pI� ����"� ���$9 )
' �-#�9 � T% F=7�1 @A GHz 40:  

 B (  Ik M0 !��$
� �#�� �%=$" T% �1B !f#7� >#d� �r�#s� �100 \�=]�C� ���$9 kYX
���!	
��
� :  

(83)  G(ϕ) = Gmax – 2.5 × 10
–3

 

2








 ϕ
λ
D

  for 0 < ϕ < ϕm 

(84)  G(ϕ) = G1  for ϕm ≤ ϕ < ϕr 

(85)  G(ϕ) = 32 – 25 log ϕ  for ϕr ≤ ϕ < 48° 

(86)  G(ϕ) = –10  for 48° ≤ ϕ ≤ 180° 

  








λ
+= D

G log1521 (87) 

 1

20
GG

D
maxm

−λ=ϕ (88) 

 

6.0

85.15

−









λ
=ϕ D

r
 (89) 

:(   T% �kB !f#7� >#d� �r�#s� �Ik M0 !��$
� �#�� �%=$"100 \�=]�C� ���$9 �s !9���% �B kYX
��� !	
��
� ) �q��
 M�q6Y7�6� 7:( 

(90) G(ϕ) = Gmax – 2.5 × 10
–3

 

2








 ϕ
λ
D

  for 0 < ϕ < ϕm 

(91)  G(ϕ) = G1  for ϕm ≤ ϕ < 100 
D

λ
  

(92)  G(ϕ) = 52 – 10 log 
λ
D

 – 25 log ϕ  for 100 
D

λ
 ≤ ϕ < 48°  

(93)  G(ϕ) = 10 – 10 log 
λ
D

  for 48° ≤ ϕ ≤ 180°  
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&(  � �%=$" �9=?� T�� �r=$" �r�#O

 WZkL� ���
� F#C 8�%#
X% �#�9 D/λ!	
��
� !kYX
� T% :  

 7.7log20 −≈
λ max

G
D

 (94)  

   �	6Gmax
� ��1 �*  �r�#s� � ��	r�
� u[(dBi).  

�(  �r�#s� \�6 G�" F#C 8�%#
X% �#�9 � �%=$":  

   �9=?� T��D/λ) 2=6#
� x[$0 �O$" 8��X% ( !kYX
� T%!	
��
�:  
 D/λ ≈ 69.3 / θbw (95) 

  �	6 θbw !%��� G�" �* ) ��=?¬ ��BdB 3) (��f��(w  

 �9=?� T�� �r=$"Gmax �
9 ��1 �9�?�
� �f� W
": 

 Gmax (dBi) ≈ 44.5 – 20 log θbw (96) 
  

  

 ��	
��1 ������� � �	
��� �
���� ��� ������� ��� ��� �� �!"# $% &��� '�()*�� �+ �,����� -../0( 1.23��� .  

 ��	
��2 ��+  �#�(5�� �+ 6
+ 7�+ � �
�)8� 9�
:;� ��� �+ %��% $��# �< �	
��� �
���� 9�
:= ��� $% >?@A8�B )#�C� ) )?E�
 >?@A8�3 .( �����8 GH<I� �J� -�)# KE% G	L �.#!��� �!M � �
�)8� 9�
:;� ��� )2�# N�% �O"3# P�!� >Q?E% ��.
��� 9�
:;�

�� ���8�( ��3+ R����8� >#�#��)�� �A@)8�.  

 ��	
��3 � S�T� >#!O��� ��?E K.U V"2�# �< '!�� �#�(5�� �+ 7�8� P�W � �
�)8� 9�
:;� ��� ��Q
��� 7�� �!J� W�X� �O"3# 
Y���� R)M�Z �+ &�."2E >.��L ��#��2[.  

 ��	
��4 �8� 1"�30 � % � >.
�)8� ����� (\( ( �@�( \��/��� >"23��B N�=)(% �/U%L '��Q ( 6B��/��A� >.
�)8� �����8� �+%
)'��Q
��( �/UI� (>������ �.< ��U.  

 ��	
��5 � ��� )H�/# )Z�3�8� $��(��� ��W ��.
���� G	L �.#!��� �!M � ������ �
�)8� 9�
:;� .8� 9�
:;� ��� �+% ��.
���	� �
�)
>������ �+ �#58� V	���U >#)Z�30A�� ��]���� ��W .&��<^+ >J�_ )�!�� >���� >.
�)8� �����8� ��"�L� ��` ��.
���� a!M �b8(.  

 ��	
��6 � >._���� �Q*�0 ��+�	
8� �+ �#58 ITU-R F.1245 c
B � ���Q
��� 9�
:;� ����� ����8 &�.d�#� &��W�e  ������
�,����� -../0( 1.23���.  

 ��	
��7 ��+ $�"2J� � !,f0 ��� >.
�)8� 9�
:;� ����� )#��0 ��)Q��� $�Q*� >������ �+ �#5+ g= )+I� h��i   � ��/0 �+ j)i
��.
���� -.QH0.  

 ��	
��8 �����8� 1"�3# $$������� $�.
�)8� �  % (\( (H# � �Q�3��( >+�L >�HB>.	Q
�� >�B�b�� >+�T� ��.
��M c
"� &��W�e $�]	k 
 �#�(5�� 7�+ � �Q��Q
��� � �!J� �,�0 �O"3#(°5 g= °70)  6�?@A8� &�*#% )?E�2( 3.(  
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 �������5  

 �	
�
�1  

  

�
������ ����� �
�
��  

 �% !�
X% �#�� =k ����� ¦X0 �
� +�* ��dA � !?��% �#�� �B ��� !�
X% �%A!	4#� . ���
X7� /K� &��B =k�) ���
��?�S� �B ( >�={� �3 .��X9�l��
� #g$
� W
" /K#
� ��* c:  

v  ���: !f��� ����
� )
' >�Q% �!	4#�
� +�* ��dA � �O	
" >#Z�� T�� � �B 2�=` eV �O��	k ��� !�
X% 
)
' eV� !	K�L� !IJ� G�".  

v  �����	:X� �B �O��	k <��� !�
X%  c��)8YQ% 8��0�i �#�� ��1 ( �B �#�� )
' >�Q% �!	4#�
� +�* ��dA � !0#�`
 |I�
� W
" �I7� >#I* >=X%R( p) (mm/h)) \#C�
�� pr��E� T% W?���(�� dmax2)  >�={� T% ����3( �
������� :#
CL <	�$�
� !-��%� (km) d1 (1)) !0#�`(��*eV� .  

  
 �����3  

�������� 	
��
  

������ ���������	
��� 	
����� ��������� 

A1 dB  W
" =��X9 � _�
� h�{�-��7�!��9�{� 2���� �   !
��X7�(25) ��?�S� 

A2 dB h�{� W
" =��X9 � _�
� -��7�! �i�$�
� 2���� � 
_e[C#0��
� 

 !
��X7�(29) ��?�S� 

Ac dB _���� ���� �S��7� ����k�� �fB T% |	gZ��g�
� �#-   
��X7� !(24) ��?�S� 

Ad dB  T% �� �1 ��=�%� W
" <-L� !-��% �fB T% |	gZ�
�
!	K�B !I` 

 !
��X7�(10) ��?�S� 

Ag dB  ��0��6 � _#{� cY�
� � ��j��
� T" Nf�$
� M*#�
�
 ������� :#
CB(1) ������� :#
CB� (2) 

 ���
��X7�(32) 
�(76) 

��?�S� 

Ah dB �� �1 ��=�%� W
" x9��b�
� �o6 ���0 2���E� t#
!	K�B !I` T% �� 

 ����X7�(11a)

 @A(11c)=$�
�� 
1 �	9��
� T% 2

��?�S� 

Aw dB  ���� e�7� T% h�{� )
' �#- h�7� ��, T" Nf�$
� M*#�
�
 �	�=
� !-��7� !��$
�0L:#
C�������  (1) 

 !
��X7�(22b) ��?�S� 

b km �7� T�U ����% No6 =X0B� !	K�L� !IJ� M0 !	?-L� !-�
 2="��7� ![1L� :��6 � !%=]��7� � ������� :#
CB(2)

 =$�
�1.4 T% 
 �	9��
�3  

��?�S� 

C v  ������� :#
CB � !%=]��7� >�X[
� �i�$�
� �?� !
�� (2)  !
��X7�(72) ��?�S� 

Cak
 

Cb v !
�X[
� �i�$�
� �?� ��������� �I7� t�[��� �#- �i�$�

   ���
��X7�(71) 
�(70) 

��?�S� 

d  km c�[�
� W
" !I?� @A !	K�L� !IJ� T% !-��7�="��7�  
L� :��6 � !%=]��7� ������� :#
CL 2="��7� ![1(2) 

 !
��X7�(81) 
 =$�
��1.4 � 

 �	9��
�3 

��?�S� 

d1 km ������� :#
CL <	�$�
� !-��% (1)  �#$�
�2� 3� 4 
 �	9��
� �2  

��?�S� 
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 �����3  
�������� 	
��
  

������ ���������	
��� 	
����� ��������� 

dc km  +���� � �6��
� @A !	K�L� !IJ� T% !-��7��#Z?7� 
 ������� :#
CB � <	�$�
� !-��% :��6 � !%=]��7�(1) 

 !
��X7�(24) ��� 

dc km �Ik ������� :#
CB ��0��6 � !%=]��7� �I7� !	
� (2)  !
��X7�(52) ��?�S� 

de km �I7� !	
� !-�6 @A !	K�L� !IJ� T% !	?-L� !-��7�  !
��X7�(64) ��?�S� 

dh km !	K�L� !IJ� �r�#* �1�% T% !	r�7� _#9���
� <-L� !-��%  =$�
�1 � 
 �	9��
�2 

��� 

di km ��7� :���� � !%=]��7� !	K�L� !IJ� T% !$*��
� !-
	�$�
� !-��7 _�����
� � <:#
CB�������  (1)  

 ����X7�(15) 
�(31)� (48) 

��?�S� 

dlm km !?I$7� ��
� ���� 2����% !-��% >#dB 2A !-��7� ���� �
di�����
� :���� � !%=]��7�� �_ � <	�$�
� !-��7 

������ :#
CB �(1)  

 =$�
�2.4 � 
 <g
7�1  

��� 

dmax1 km  ������� :#
CL F#Z?
� :���� !-��%(1)  =$�
�2.5 ��?�S� 

dmax2 km  ������� :#
CL F#Z?
� :���� !-��%(2)  >�={�2 ��?�S� 

dmin km ������� :#
CL �	�=
� <	�$�
� !-��% (1) ������� :#
CB� 
(2)h�#�
� W
"   

 ����X7� T%
(5a) @A (5f) 

��?�S� 

mínd ′ km �	�=
� <	�$�
� !-��%!b[]$7� ������

    !
��X7�(4) ��?�S� 

dtok dtv 

drok drv 

km 
� =9=3 � !%=]��7� ��-��7� ��0��� _j��
� M*#�
:#
CB�������  (2)  

 ����X7�(74a)

�(74b)� (75a)

�(75b) 

��?�S� 

dr km �7�6 �I7� !	
� T% !-�	 j��o�� �B _���� 2���E� �
 ������� :#
CL !0#
I7� >�C�D� 2����(2)  

 =$�
�1 � 
 �	9��
�3 

��?�S� 

dtm km  2����% !9�0 !-��% >#dB) �
� ���� _B +�6��
�( !?I$7� 
1A +  !?I$7�2A !-��7� ���� �di��� � !%=]��7�  :�

<	�$�
� !-��7 _�����
� � :#
CB�������  (1) 

 =$�
�2.4 � 
 <g
7�1  

��� 

D m  �Xf�7� t�XSD� pI� =9=3 � \=]��7� �r�#s� �Ik
 �r�#O

) �	9��
�4(  

 �	9��
�4 ��� 

f GHz �����
� MHz 100 @A GHz 105 <�I$9 �  ��� 

G(ϕ) dB �*�=k !9��j �#` &��� �r�#s� ��1 ϕ pI� T% �=J� 
� t�XSD� �r�#O

 �Xf�7) �	9��
�4(  

 ����X7�(83) 
 @A(86)� (90) 

 @A(93) 

��?�S� 

GL   !9#�7� !��$
� T% �9#g�
� � \=]��% e�X�T%�
� T% B#CL 
!9#$�
� !9#�7� !��$
� @A �OST%�
� T%  

 ���
��X7�(7a) 
�(7b) 

��?�S� 
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 �����3  
�������� 	
��
  

������ ���������	
��� �	
����� �������� 

G1  dB  t�XSD� pI� T% �=J� �r�#O

 >�L� ¤��{� u[
� ��1
 �r�#O

 �Xf�7�) �	9��
�4(  

 !
��X7�(87) ��?�S� 

Gmax dB  t�XSD� pI� � \=]��7� �#J� W
" �r�#s� ��1
 �r�#O

 �Xf�7�) �	9��
�4(  

 �	9��
�4 ��� 

GT dB ��
�L� !I` �r�#* � ��#�9 �B G��[9 �G� dB 42 �
<	�$�
� !-��% :��6 � \=]��7� � :#
CB�������  (2)  

 !
��X7�(57) ��� 

hc km  ������� :#
CB ��0��6 � \=]��� !�
X%(2) 8�X�� 
�I7� !	
� ���� !?I$�

  

 !
��X7�(65) ��?�S� 

hm km  :#
CB ��0��6 � M�%��� /d�?�
 G�L� �#- t�[����
� ������(2) 

 !
��X7�(60) ��?�S� 

hR km G�L� �#- �
X[
� �I7� t�[��� <�I$9 � ��� 

L( p1) dB  �� �#��7� !	C�CL� >�C�D� 2���� T% ��L� =��
 �fB T% !0#
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